Mitosis vs. Meiosis: Sources of Genetic Variation Notes
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– 2 different cells (sperm & egg) must join together in order to make a new individual 


Non-disjunction


MITOSIS
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Daughter Cells Are 							 to the parent - 				
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Disadvantage – 														!! 








�







































































































































































MEIOSIS





							





Makes 				


 


Makes 				





Daughter Cells are 								 from the parent 





Makes 					 Cells





Advantage – 						!! 





Disadvantage – 					 









































�





 			– we just talked about this





							– when parts of chromosomes 			 and 				 genetic material during Prophase 1 in meiosis





This is how mothers produce different eggs and how fathers produce different sperm
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When chromosomes fail to 									 during meiosis





Produces sperm and eggs that have an 				 number of chromosomes





They should always have 			





This commonly leads to 							 – when a child is born with 3 copies of chromosome 21





Called a 						 








�





�








